N = 0l & At & M A

PN SN
FH: 2ZNE HLAS (S 22/25L 22Ut
o FE oY (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S IOt 1,433,200 3,424,200 A 1,991,000
Xl 200,000
Al 1,233,200
22X HEAMY (S22 /2L 22 ) 400,000 2,200,000 A 1,800,000
Xl 200,000
Al 200,000
2& e 400,000 2,200,000 A 1,800,000
Xl 200,000
Al 200,000
FE o2 =4 400,000 2,200,000 A 1,800,000
Xl 200,000
Al 200,000
403 XIS E X201 H 400,000 2,200,000 A 1,800,000
Xl 200,000
Al 200,000
02 SO 2SO HSHAHE X OH e At H 400,000 2,200,000 A 1,800,000
O 3& o2 JIetAld =4
400,000,000& * 14 400,000
Xl 200,000
Al 200,000
SHEEH L R (FELNGML/XNAL Al 1,000,000 1,000,000 0
SREH 1,000,000 1,000,000 0
GSZE A At S ALY 24 1,000,000 1,000,000 0
401 A& HIZ 201 I 1,000,000 1,000,000 0
01 A& HI 993,700 993,700 0
O GSZEA A SEHAIY BEA (20 EX
oHedyl) 1,000,000,000& * 99.37/100 993,700
03 A& SR THHI 6,300 6,300 0
O GSZEA A SEHAIY EA (L0 EX
oHeyl) 1,000,000,000& = 0.63/100 6,300
HHESXHL (LSS /LorAT) 29,000 0 29,000
StH I =R X JHE AL 29,000 0 29,000
grE Z22ci i HHERX 29,000 0 29,000
401 AIEHI L 2CHEI 29,000 0 29,000
01 A& Hl 29,000 0 29,000
O rEHeD AN HE2X HLAY
29,000,000& = 14 29,000
HE2AZH(SYML ) (IIEH/IIEL) 4,200 4,200 0
Jl2&dl 4,200 4,200 0
JlE2&l 4,200 4,200 0
203 YR =&l 4,200 4,200 0
04 FN2ELSZTH 4,200 4,200 0




<

n0

Kio

Hl w

H3r
Wikd
RIS

Off &t 24

4,200

F)(DIEH/DIEH)

128

EIge

350,000

Mo




